Efficiency vs Dxy(PV)
0.1

0.0
x

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_baseline_lowPT
—e— DQM_mkFit_baseline6iter_lowPT
[Efficienc]| —— DQM_mkFit_TT_Retrainv2_WP2_6iter_ep3_lowPT
9
S 0.8
e
> 0.
°
[
>
>
)
< .
R LRRRE AR Bl | R AR
2 :
5 .
i L :
IR RY i
2 Il '
S \
E: TR IFYD R |
i
I
0.95 LS e
-1-0.8-0.6-04-0.2 0 0.20.4 0608 1

TP dxy(PV) (cm)

Efficiency vs Dz(PV)
—~ 05

PV

o

efficiency vs dz
o

o
S N 9O w

0.1!

RPN S

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.

efficiency vs dz(PV)

Ratio




	Contents
	Page 1


